Fully-worked Solutions



(c)
$$\frac{1}{2}x + 3 = x + 4$$

(d) $3x - 8 = 7x - 4$
9 (a) Time of journey for the car = $3\frac{1}{2}$ hours
 $3\frac{1}{2} = 5 - x$
(b) $x = 5 - 3\frac{1}{2}$
 $x = 1\frac{1}{2}$
10 (a) 900 = 4x
(b) $x = \frac{900}{4}$
 $= 225$
11 A A linear equation in two variables.
B Not a linear equation in two variables.
C A linear equation in two variables.
D A linear equation in two variables.
D A linear equation in two variables.
D A linear equation in two variables.
Answer: B
12 (a) $6x + 4y = 35$ (b) $x = 43 - y$
13 (a) $x = y + 16$
(b) $x : y = 5 : 3$
 $\frac{x}{y} = \frac{5}{3}$
 $3x = 5y$
14 (a) $3x + y = 12$
 $5x + 12$
 $y = 6$
Solution: (2, 6)
(b) $7x - 2y = 8$
 $7x - 2(-4) = 8$
 $7x + 8 = 8$
 $7x = 0$
 $x = 0$
Solution: (0, -4)
(c) $5x - 13y = -2$

$$-13y = 13$$

$$y = -1$$

Solution: (-3, -1)
(d) $-4x + 9y = 5$
 $-4x + 9(-3) = 5$
 $-4x - 27 = 5$
 $-4x = 32$
 $x = -8$

5(-3) - 13y = -2-15 - 13y = -2

$$x = -8$$

Solution: (-8, -3)

15 (a) 5x - 8y = 18When x = -1, y = 2,

5x - 8y = 5(-1) - 8(2)= -5 - 16= -21≠18 x = -1, y = 2 is not a solution for the equation 5x - 8y = 18. When x = 2, y = -1, 5x - 8y = 5(2) - 8(-1)= 10 + 8= 18x = 2, y = -1 is a solution for the equation 5x - 8y = 18. (b) 7x + y = 26When x = 3, y = 5, 7x + y = 7(3) + 5= 21 + 5= 26 x = 3, y = 5 is a solution for the equation 7x + y = 26. When x = -2, y = 12, 7x + y = 7(-2) + 12= -14 + 12= -2≠26 x = -2, y = 12 is not a solution for the equation 7x + y = 26.(c) x - 10y = -5When x = 5, y = 1, x - 10y = 5 - 10(1)= 5 - 10= -5 x = 5, y = 1 is a solution for the equation x - 10y = -5.When x = -7, y = -5, x - 10y = -7 - 10(-5)= -7 + 50= 43 ≠-5 x = -7, y = -5 is not a solution for the equation x - 10y = -5.(d) -2x + 3y = -4When x = -3, y = -3, -2x + 3y = 2(-3) + 3(-3)= -6 - 9= -15 $\neq -4$ x = -3, y = -3 is not a solution for the equation -2x + 3y = -4.When x = -1, y = -2, -2x + 3y = 2(-1) + 3(-2)= 2 - 6= -4x = -1, y = -2 is a solution for the equation -2x + 3y = -4.





(1) + (2):
$$3x = 15$$

 $x = 5$
From (2), $5 + y = 8$
 $y = 3$
 $\therefore x = 5, y = 3$
(c) $x + 3y = 16$ (1)
 $4x + y = -2$ (2)
(2) $\times 3: 12x + 3y = -6$ (3)
(3) - (1): $11x = -22$
 $x = -2$
From (2), $4(-2) + y = -2$
 $-8 + y = -2$
 $y = 6$
 $\therefore x = -2, y = 6$
(d) $3x - 7y = 5$ (1)
 $5x - 2y = -11$ (2)
(1) $\times 2: 6x - 14y = 10$ (3)
(2) $\times 7: 35x - 14y = -77$ (4)
(4) - (3): $29x = -87$
 $x = -3$
From (2), $5(-3) - 2y = -11$
 $-15 - 2y = -11$
 $-2y = 4$
 $y = -2$
 $\therefore x = -3, y = -2$
23 (a) $x = 14 + y$
 $x + y = 154$
(b) $x - y = 14$ (1)
 $x + y = 154$ (2)
(1) + (2), $2x = 168$
 $x = 84$
From (1), $84 - y = 14$
 $y = 70$
 $\therefore x = 84, y = 70$
24 (a) $a + b = 72$
 $a = 2b$
(b) $a + b = 72$
 $a = 2b$
(b) $a + b = 72$
 $a = 2b$
(c) $a - 2b = 0$ (2)
(1) - (2): $3b = 72$
 $b = 24$
From (1), $a + 24 = 72$
 $a = 48$
 $\therefore a = 48, b = 24$
25 (a) $x + 4y = 12$ (1)
 $3x + 7y = 26$ (2)
(b) (1) $\times 3: 3x + 12y = 36$ (3)
(3) - (2): $5y = 10$
 $y = 2$
From (1), $x + 4(2) = 12$
 $x + 8 = 12$
 $x = 4$
 $\therefore x = 4, y = 2$

Summative Practice





A4

13 (a)
$$x = 30 + y$$

 $x - y = 30$
 $x + 7 = 3(y + 7)$
 $x + 7 = 3y + 21$
 $x - 3y = 14$
(b) $x - y = 30$ (1)
 $x - 3y = 14$ (2)
(1) - (2), $2y = 16$
 $y = 8$
From (1), $x - 8 = 30$
 $x = 38$
Rahman: 38 years old
Zainal: 8 years old

14 (a) (0, -9), (1, -6), (4, 3)

